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1) Expand and simplify each of the following

a) (x — 2)(x + 3)
o S
=k -b
¢) (x + 4)(x — 5)
= 361“67&% - 1O

= % - 20

e) (x — 2y)(x + 2y)

- «y}-}&%ﬂ - &’)gj, L{‘j}
- MD—" L{UQ\
9) 2x — 7y)(2x — 5y)

- WMO%_U)JW% 4363&

W\

%(;ml%ﬂ chgal
i) 2(x — 7)(2x + 1)

= (2 ”W(MH)

= B 2w - |y

= U2l -1y

b) v +6)(y + 2)

- U%;j%gﬁ F
= %%%Hg\
d) (x — 8)(x — 6)

= X -bx-H 4 Y
=X WYy g

) 2x+ 1)(x—3)

= v bx vy -3
R oY -3

h) (3 —25)(2 — 3s)

= 6-95-45 167
= (52132 44

J) x+3)(x+6)—2(x+1)

= XlJ(é%B% Hlg—dx -

= Wy T+l































Ky —(m+7)(m—1)+42m+ 1)(3m —4) ) —6(2x + 1)(6x + 1) + 3(4x — 3)2

—

= (=K In=T7) LV(@M}_%MQM,% = 42 paactbac ) + 3(’6)62’/2944&24‘?)

= (W b)) = T s 1) E3 a4 49)
= = bt T A Y101 7 TR - g T £
= L3 -2l -9

—

= ’&‘/ﬂzl-)}\o% y |

2) Factor each of the following, if possible

a) x% + 3x b) 2x% + 10x
- ’X(/X’r%} ﬁl/xz(y+6)

c) 3x% + 6x d) 3x + 6y

e (7@“&3 =3 (7(+Blj>

e) 17ac — 34ad

=17 (¢ -a2d )

f) 16x2y? — 24xy

= 31y (224 -3)

) 27x3y3 + 18x2y% + 9xy h)2x(x +7) + 3(x + 7)

= %“5 (398@1%% \ ) = (%7)(2%3)

































)a(b—7)+2(b—"7)

= (-7) (o)

K)y(x +5)+z(x +5)

= (O(Jrﬁ)( Y =

m) 4x2 + 6xy + 12y + 8x
= th % +éﬂ<ﬂ+1mﬁ
= Yoy () 64 (xt L)

= (x+)(by)
= Al (ae3Y)

0) 16x2 — 12xy — 12xy + 9y?

= Y (Y —35\ M%j(‘fy ~3Lj>
= <"[’)C;5Lﬁ\(l{y~3ts>
= (%@3@&

j) 4s(r+u) —3(r+uw)

= (r+ @(V??)

) ax + ay + 3x + 3y

~ a(%g)ﬁ(@ca)
= (2u)(as3)

n)9x2? — 6x + 6x — 4
= (3x—3) #2323

= (3x L) (3« L;L)

p) 3x% + 6x — 2x + 10

Noy passi e

























3) Factor each of the following, if possible

a)x>+5x+6

L3 =L b)x? +12x+27 [ 9 «3 =7
2t3 =5 (7Y \ 243 =1L
= ()
= (D)D)
c) x2—3x—18 ’,_C;Xi:’lzg d)d? —12d + 35 /“77’%355:36
613 = - g
= (- &)(%3) = (d["7)(0{"5>
e) c2-11c+30 [ x4 = 30 ) x?—x-72 [Cqy g =7
L5 ==l G+Z =)
=(c-6)(c-5) > (4 -
g) 3x%2 —12x — 36 h) —2x2 + 2x + 4
= 3y =Y =12 Lol = o (e Axl o =-2
3(x ) J%TE ’:’L}l = -1 (Px-2) AT =0
= 32-6)(xk2) == A3 ()
i) 6x2 —42x + 72 j) 2x> +7x+3 (<l =6
N &+l =7
_ LS \ Y x3 =% — I abxA1et3
_ Q(’X R _QA A Qe o

= D3\ (x3
= () (x=3) i )

- (7(*33(%&()








































































K)6x? +11x+4 [ ¢ 3 =34
U_Z‘:fé = l\
= b a3ty
= 3w (YY) ) (B l)
= (3o Y) (3t
m)2d?—11d -6 [\ =
Erd =
— 2”13k +ld 6
=2d (d-6)+1(d-¢)
= (d’ev(g\ok—\'l)
0) 4r? —20r +25 g, -lo= (G
-3 410 =30
= Y -lox —0e35
- e (- 5\ - S(Q\V" 5)
= (A - ) (- 53
Bl
= (9\\— - 53
q) 6x? — 5xy — 4y? 4 =3 ==Y
-+ = -5

i

!

\ A

% -%%Lﬁ%ylj -4 Lf\

do (3 -Yy )Yy BY’%}

(- 1y Yo BD

l) 6x2 + 10x — 4
= (5% -2)
=(3¢ b l-2)
= 23 (41 (3 |
= QxF) (-1

n) 6x% — 29x + 35

= {7 1Yx —15%+35

-G
5

|
KAl

=)

5 x
€ =+

M xl5= a6

-y 215 =4

= W 3x-7)-5(3%7)

= (3T )@x-5)

p) —6x% — 34x + 12

= AN - 6)
= _2( 3@ ¥l -6)
=L (O (e O]

= -1 (e 6)(3x-1)

r)x* —7x% - 18

- (N-T76) 14

Lex K=a™

= \‘\1—7\4 -1

= (k=) (ara-)
= (- T)( )

l

N
+ X

17\

1
~
A

\
-

+ X
(] o

o lb

= (%~ 3}(%%)( Xl+&>



















































































4) Expand each of the following

a) (x +3)?
= () (2?)

= 43432 19

= 7(.’1*—(:9( +0\

d) Bx+y)(3x —y)

— 9,/){1 _'57(‘3-8—)@3 _ kﬁl

= G2-u”

5) Factor each of the following
a)x2 —25
2L N
= () - (5)

= (- 9) (x4 8

b) (x — 6)?
= (-O-e)
= 1% G-z 30

= A= 19 + 36

e)(v-2)(v+2)
— Vv-dv-Y
= \I;L‘Li

¢) (3x + 2y)?
= (3%9\@(34&9\3)
= 97 +6xY rey £y
= %ﬂ?&%ﬁ %L{ﬂl

f) (x +6)(x —6)
= 1L x6x - 30
— y}—j)é

c) 36x2% — y?
- (QX)B\J Lj\g\
= (bx- L@ (éwb)

d) x? + 14x + 49 7 = 1 e) x> —6x+9 3= f) 4x% — 12xy + 9y? b L=%
T+ =y 473 =4 2| £+26 =
—49 —éﬂeﬂ—éﬂ“}*%
= (7)) (’3&“3\)
< (T
) = (x- 5)‘; = (A« —%3)(3%-33)

= (9\%—3*333\









































6) Determine expressions to represent the dimensions of this rectangular prism.

v= (2 +5¢ +L)

Tx2 =6
2+2 =
\[ = () (D) °
Volume is x° + 5x* + 6x.
Lew?‘\\’/x
Wiokhn, = Xk o

\3&\05\% =X

7) A square has side length 4a. One dimension is increased by 6 and the other is decreased by 6.

a) Write an algebraic expression to represent the area of the resulting rectangle.

A= (q@*éJ(L(a’é)

b) Expand this expression and simplify.
A= Lo - MUa+rdba -6
A= oo™ -36














ANSWERS:

1)a) x?+x-6 b) y?+8y+12 ¢) x*>-x-20 d) x>-14x+48 e) x>-4y? f) 2x%-5x-3 g) 4x? — 24xy + 35y?
h) 6s2— 135+ 6 i)4x> —26x— 14 j)x*+7x+16 k) 23m?—26m -9 1) —24x> —120x + 21

2)a) x(x+3) b) 2x(x+5) c) 3x(x+2) d) 3(x +2y) €) 17a(c —2d) f)8xy(2xy —3) g) Ixy(3x?y? + 2xy + 1) h) (x + 7)(2x + 3)
i)b-7)a+2) j)(r+u)(ds—3) k) (x+s)(y+2) 1)(a+3)(x+y) m)2(x+2)(2x+3y) n)(3x+2)(3x-2) o) (4x-3y)? p) not factorable

3)a) (x+3)(x+2) b) (x+3)(x+9) c) (x-6)(x+3) d) (d—5)(d-7) e) (c-5)(c-6) f) (x-9)(x+8) g)3(x—6)(x+2)
h) -2(x-2)(x+1) i) 6(x—4)(x—=3) j)(x+3)(2x+1) k) 2x+1)(3x+4) ) 2(x +2)(3x—1) m) (d-6)(2d + 1)
n) (2x —5)(3x — 7) 0) (2r - 5)(2r —5) p) -2(3x-1)(x+6) q) (3x-4y)(2x+y) r) (x — 3)(x + 3)(x% + 2)

4)a) x2+6x+9 b) x> — 12x + 36 ¢) 9x* + 12xy + 4y? d) 9x*>-y* e) V2 — 4 f) x> - 36

5)a) (x-5)(x+5) b) (y-7)(y+7) c) (6x-y)(6x+y) d) (x+7) e) (x-3)* ) (2x — 3y)?

6) x(x+3)(x+2)

7)a) (4a+6)(4a-6) b)16a%-36



